lllustrated Parts List

Questions? La ayuda es justa un momento lejos! 0 auxilio esta a poucos passos! Procure
Help is just a moment away! Encuentre su Briggs y Stratton distribuidor o fornecedor de servigos authrizados mais
Find your Briggs and Stratton distributor en nuestro mapa del localizador de proximo em nosso mapa de fornecedores
in our distributor distribuidor en em www.briggspowerproducts.com ou
locator map at www.briggspowerproducts.com entre em contato com seu representante
www.briggspowerproducts.com or 0 avise su Briggs y Stratton el local da Briggs & Stratton para obter mais
contact your local Briggs and Stratton comerciante local para la informacion informagoes.
dealer for further information. adicional.
Preguntas? Perguntas?

Model No. 1773-0 (3200 Watt AC Generator) Manual No. 191196A Revision A (08/02/2007)

Download from Www.Somanuals.com. All Manuals Search And Download.



BSP 3200 Generator

EXPLODED VIEW - MAIN UNIT

Copyright © 2007 Briggs & Stratton Power Products Group, LLC. All rights reserved. No part of this material may be

reproduced or transmitted in any form by any means without the express written permission of Briggs & Stratton Power
Products Group, LLC.

Download from Www.Somanuals.com. All Manuals Search And Download.



BSP 3200 Generator

PARTS LIST — MAIN UNIT

Iltem Part # Description
1 191403GS SET, Decal, Unit & Air Gover
2 M190341GS KIT, Cradle (Includes 24, 30, 31 & 33)
3 67989GS NUT, M8 Flanged Serrated
4 81917GS PIN, Roll, 4mm x 10
5 70642GS MOUNT, Vibration Engine
6 66365GS HOUSING, Engine Adaptor
7 86307GS HHCS, 5/16" x 3/4", SEMS
8 B2816JGS ASSY, Rotor
9 =~ WASHER, 5/16 - M8
10 96796GS WASHER, Flat (special)
11 47480GS HHCS, 5/16"- 24 x 7

12 191271AGS ASSY, Stator

13 66825BGS CARRIER, Rear Bearing

14 67022GS GROMMET, Rubber

15 86308GGS HHCS, M6-1.0 x 100, SEMS
16 95003AGS ASSY., Control Panel

17 74908GS TAPTITE, M5 .08 x 10mm

18 191459GS DECAL, Control Panel

19 91825GS RECTIFIER, Brush & Bridge

20 66849GS TAPTITE, M5 - .08 x 20mm

21 86494GS SCREW, M6 - 1.0 x 16 Wing

23 195373GS WIRE, Ground

24 B4986GS DECAL, Ground

25 * WASHER, #10 Ext. Shakeproof
26 * TPHMS, M8 1.25 x 35

27 86292GS SCREW, Self Driller 12-14 x 7/8"
28 84242GS GROMMET

29 55199JGS WIRE, Ground Panel

30 93639GS DECAL, Danger

31 191438GS DECAL, Danger Instructions
* PPHMS, M8 - 1.25 x 20

33 191436GS DECAL, Caution Hot Muffler

900 § ENGINE

Parts Not lllustrated
191196GS MANUAL, Operator
MS3780 MANUAL, Engine
43483GS PLUG, 250V, 20A

* - Items without part numbers are common fasteners and are available at local hardware stores.
§ - Contact Engine Manufacturer

Download from Www.Somanuals.com. All Manuals Search And Download.



BSP 3200 Generator

EXPLODED VIEW AND PARTS LIST — CONTROL PANEL

%
11
Iltem Part # Description
1 95600GS COVER, Control Panel
2 PPHMS, M4 0.7 x 10
3 94396BGS CIRCUIT BREAKER, 20amp
4 94396AGS CIRCUIT BREAKER, 15amp
5 * WASHER, #8 Shakeproof, Int.
6 68759GS OUTLET, 120V, 20A
7 7 WASHER, Flat, #8
g - WASHER, Lock #8
9 * NUT, M4 - 0.7 Hex
10 68867GS OUTLET, 120/240V, 20Amp
11~ NUT, 3/8 - 24

* - ltems without part numbers are common fasteners and are
available at local hardware stores.

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

